Algebra 3 Assignment # 2

(1) Solve for x please.

(@ 5x>-3x +4=0 b) 3x2+8 -1=0

(2) Solve each of the following inequalities please.

(@) x2-2x — 15 > 0 (b) 4x* - 15x — 4 < 0
(€ x*+2x -7 > 0 @ (2x - 7)(x +3) < (x + 7)(x - 3)
3 2 3x — 5
e + - 4x -4<0 2 0
(€) X7+ x7—dx ® 2x + 3
(x + 5)(x = 1)
(® <0
3
(X+3)
(3) Solve for x please.
2 1
(a) x*—25x2 + 144 = 0 () x3-6x3+5 =0

(©) (xz— 3x)2— 2(x2— 3x) ~8=0 (@ x*-3Bx-30=0
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2) (@ x<-3orx>5 (b) -4 <x<4

(c)x£—1—2\/§0rX2—1+2\/§ d 0<x<5

() x< -2 or -1<x<2 (i)x<—% orng

(g S<x< -3 orx=1

3 (@ £3, +4 (b) 1,125

) *1,2,4 @ 243,53



